IRSRESHER
Bz 1 JNAskigte

15° 30° 15° 30°
(GB/T 5783-2000)

k ‘ k I
tica Gl
BN d=M12, 1=80 0 . EAESELRY 8.8 . FEEM. A RM AIZE -
12+ GB/5782 M12x80
mm
BREGIAE d M3 M4 M5 M6 M8 M10 M12 (M14)
s 5.5 7 8 10 13 16 18 21
k 2 2.8 3.5 4 5.3 6.4 7.5 8.8
r 0.1 0.2 0.2 0.25 0.4 0.4 0.6 0.6
e (A) 6.01 7.66 8.79 11.05 14. 38 17.77 20. 03 23.36
e (B) 5. 88 7.50 8.63 10. 89 14. 20 17.59 19. 85 22.78
b(1<125) 12 14 16 18 22 26 30 34
b (125 <1<200) 18 20 22 24 28 32 36 40
b (1>200) 31 33 35 37 41 45 49 53
LB (GB/T5782) 20730 25740 2550 3060 4080 45100 50120 607140
L SBE (GB/T5783) 6730 8740 10750 12760 16780 207100 257120 307140
PRETHNE d M16 (M18) )20 (M22) M24 (M27) M30 M36
s 24 27 30 34 36 1 16 55
k 10 11.5 12.5 14 15 17 18.7 22.5
r 0.6 0.6 0.8 1 0.8 1 1 1
e (A) 26.75 30. 14 33.53 37.72 39. 98 B B B
e (B) 26. 17 29. 56 32.95 37.29 39.55 45.2 50. 85 51.11
b(1<125) 38 42 46 50 54 60 66 —
b (125<1<200) 44 48 52 56 60 66 72 84
b (1>200) 57 61 65 69 73 79 85 97
L8R ( GB/T5782) 657160 70180 80200 90220 90240 1007260 1107300 1407360
LS8 ( GB/T5783 ) 307150 357150 40150 45150 50150 557200 60200 707200
L %51 6,8, 10, 12, 16, 20, 25, 30, 35, 40, 45, 50, 55, 60, 65, 70, 80, 90, 100, 110, 120, 130, 140, 150, 160, 180, 200, 220, 240, 260,
280, 300, 320, 340, 360, 380, 400, 420, 440, 460, 480, 500




Pk 2 XSLEEE

djs

b | b |
ARY

bm=1d(GB/T897-1988),bm=1.25d(GB/T898-1988),bm=1.5d(GB/T899-1988),bm=2d(GB/T900-1988)
ARITT . LRI NI T L%, d=10mm. [=50mm. HEERH 48R, ik alE, BA,
bm=d 830K 3% 42 B4 GB/T897-1988 M10 x50

bm
SREHIE 1A
d GB/T895 | GB/T898 | GB/T899 | GB/T900
-1988 -1988 -1988 -1988
M2 3 4 (12 ~ 16)/6,(18 ~ 25)/10
M2.5 35 5 (14 ~ 18)/8,(20 ~ 30)11
M3 45 6 (16 ~ 20)/6,(22 ~ 40)/12
M4 6 8 (16 ~22)/8,(25 ~ 40)/14
M5 5 6 8 10 (16 ~22)/10,(25 ~ 50)/16
M6 6 8 10 12 (20 ~22)/10,(25 ~ 30)/14,(32 ~ 75)/18
M8 8 10 12 16 (20 ~22)/12,(25 ~ 30)/16,(32 ~ 90)/22
M10 10 12 15 20 (25 ~ 28)/14,(30 ~ 38)/16,(40 ~ 120)/26,130/32
M12 12 15 18 24 (25 ~30)/16,(32 ~ 40)/20,(45 ~ 120)/30,(130 ~ 180)/36
(M14) 14 18 21 28 (30 ~ 35)/18,(38 ~ 45)/25,(50 ~ 120)/34,(130 ~ 180)/40
M16 16 20 24 32 (30 ~ 38)/20,(40 ~ 55)/30,(60 ~ 120)/38,(130 ~ 200)/44
(M18) 18 22 27 36 (35 ~ 40)/22,(45 ~ 60)/35,(65 ~ 120)/42,(130 ~ 200)/48
M20 20 25 30 40 (35 ~ 40)/25,(45 ~ 65)/35,(70 ~ 120)/46,(130 ~ 200)/52
(M22) 22 28 33 44 (40 ~ 45)/30,(50 ~ 70)/40,(75 ~ 120)/50,(130 ~ 200)/56
M24 24 30 36 48 (45 ~50)/30,(55 ~ 75)/45,(80 ~ 120)/54,(130 ~ 200)/60
(M27) 27 35 40 54 (50 ~ 60)/35,(65 ~ 85)/50,(90 ~ 120)/60,(130 ~ 200)/66
M30 30 38 45 60 (60 ~ 65)/40,(70 ~ 90)/50,(95 ~ 120)/66,(130 ~ 200)/72,(210 ~ 250)/85
M36 36 45 54 72 (65 ~ 70)/45,(80 ~ 110)/60,120/78,(130 ~ 200)/84,(210 ~ 300)/97
M42 42 52 63 84 (70 ~ 80)/50,(85 ~ 110)/70,120/90,(130 ~ 200)/96,(210 ~ 300)/109
M48 48 60 72 9 (80 ~90)/60,(95 ~ 110)/80,120/102,(130 ~ 200)/108,(210 ~ 300)/121
' 12, (14), 16, (18), 20, (22), 25, (28) , 30, (32) , 35, (38) , 40, 45, 50, (55) , 60, (65) , 70, (75) .80, 85,90, 95, 100,
(%%) |110, 120,130, 140, 150, 160, 170, 180 , 190, 200, 210 , 220 , 230 , 240 , 250 ,260 , 280 , 300

E:ol. RTRIEAET A 2. d~BaPE. 3. Xw—2. 5P (3RIE) .



Bi== 3

FHEET

FrrEEFI2ET ( GB/T65—2000 ) .

dx
n

d

FrigEAsLI24T ( GB/T67—2000 ) .

n

k

%

FriE A2 SLI24T ( GB/T68—2000 )
FRCGI BRSGE d=M12, AFRKE 1=80 O . 4EEEHRIT 8. 8 . FEFEM. A KRBV IR 1242 GB/T 5782 M12x80

ELTHAE d ML 6 M2 w25 | M3 | w4 | w5 | w6 M8 M10
dk 7 | 85 | 10 13 16
Kk 2.6 | 3.3 | 3.9 5 6
t min L1 | 1.3 | L6 2 2.4
GB/T65-2000 r min 0.2 | 0.2 | 0.25 | 0.4 0.4
1 540 | 6750 | 8760 | 1080 | 12780
SRR 10 | 40 | 40 40 40
AKE
dk 3.2 4 5 56 | 8 | 9.5 | 12 16 23
Kk 1 1.3 .5 | 1.8 | 24 | 3 3.6 | 4.8 6
t min 0.35 0.5 0.6 | 0.7 1 L2 | L4 | L9 2.4
GB/T67-2000 r min 0.1 0.1 0.1 | 0.1 | 0.2 | 020025 | 0.4 0.4
1 216 | 2.5720 | 3725 | 4730 | 5740 | 6750 | 8760 | 10780 | 12780
IR AT
30 30 30 30 | 40 | 40 | 40 40 40
AKE
dk 3 3.8 4.7 | 55 | 84 | 9.3 | 1.3 | 158 | 18.3
Kk 1 1.2 .5 | 165 | 2.7 | 2.7 | 3.3 | 4.65 5
t min 0.32 0.4 0.5 | 0.6 1 L1 | L2 | 18 2
GB/T68-2000 r min 0.4 0.5 0.6 | 0.8 1 1.3 | L5 2 2.5
1 2,516 | 320 | 4725 | 5730 | 6740 | 8750 | 8760 | 10780 | 12780
ol 30 30 30 | 45 | 45 | 45 45 45
AKE
0.4 0.5 0.6 | 0.8 | 1.2 | 1.2 | 16 2 2.5
25 38
9. 2.5. 3. 4. 5, 6. 8. 10, 12, (14). 16, 20, 25. 30, 35. 40, 50. (55). 60, (65).

L &5

70, (75). 80




Biz= 4 W7 AEFESLIZET ( GB/T70.1—2000 )

A}

FRCTGI : BBRSGIAS d=M5, ATRICE 1=20 O . MRS 8. 8 k. REBALHIN EERFSIZET -
125]  GB/T70. 1 M5 %20

]
447
= M2 (M14
mg | o | W M4 M5 M6 M8 MIO | MI12 ) M6 | M20 | M24 | M30 | M36
d
dkna 45' 5.5 7 8.5 10 13 16 18 21 24 30 36 45 54
X
2.
kmax : 3 4 5 6 8 10 12 14 16 20 24 30 36
1.
tmin | 1.3 2 2.5 3 4 5 6 7 8 10 12 | 155 | 19
T 0.1 0.2 0.25 0.4 0.6 0.8 1
s 2 | 2.5 3 4 5 6 8 10 12 14 17 19 22 27
2. 1.4 | 13.7 19.4 | 21.7 | 25.1 | 30.8
2. 44 | 4. .72 | 6. 1 1
e ; 87 | 3 58 | 5.72 | 6.86 | 9.15 ; ) 6 A ; . .
b
& 17| 18 20 22 24 28 32 36 40 44 52 60 72 84
%)
L&
5 2.5,3,4,5,6,8, 10, 12, 16, 20, 25, 30, 35, 40, 45, 50, 55, 60, 65, 70, 80, 90, 100, 110, 120, 130, 140, 150, 160, 180, 200

T 1. b AEEERE.
2, M3~M20 Jorsmiins , Efth/ai@maie.



Bz 5 FHEEiEissT

s (GB/T71—1985 ) . SR ( GB/T73—1985 ) . Bl ( GB/T75—1985 )

L A t 45°
9{}0 = 9 (:}O ' 51 ° — —
K- /’j l \ o 7 | /_*

PRICRGY - ABSGIHE dM5, AFRIKE 1=12 0 MEEERDy 140 R, REENFHERTIRET

25T GB/TT71 M5x12

0

mi;y:m M2 M2. 5 M3 M4 M5 M6 M8 M10 M12
df BauMz
dt 0.2 0.25 0.3 0.4 0.5 1.5 2 2.5 3
dp 1 1.5 2 2.5 3.5 4 5.5 7 8.5
n 0.25 0.4 0.4 0.6 0.8 1 1.2 1.6 2
t 0.84 0.85 1.05 1.42 1.63 2 2.5 3 3.6
z 1.25 1.5 1.75 2.25 2.75 3.25 4.3 5.3 6.3

1 &% 2,2.5,3,4,5,6,8,10,12(14), 16, 20, 25, 30, 35, 40, 45, 50, (55), 60




k6 125

1 BIZSAIRE—C 4% (GB/T41—2000 ) . 1 BY7SAIREY ( GB/T6170—2000 ) . 7NATEIRE} (GB/6172. 1—2000 )

Rl
WREGIAE D-M12, MBEER A b K. AERELE, CRAY 1 BLSARE (188 GB/T 41 MI2
mm
BREHAE D M3 M4 M5 M6 M8 M10 M12 (M14) M16
GB/T41 — — 8.63 | 10.89 | 14.20 | 17.59 19. 85 22.78 26. 17
omin GB/T6170 6.01 7.66 8.79 | 11.05 | 14.38 | 17.77 20. 03 23.36 26. 75
GB/T6172. 1 6.01 7.66 8.79 | 11.05 | 14.38 | 17.77 20. 03 23.36 26. 75
s 5.5 7 8 10 13 16 18 21 24
GB/T6170 2.4 3.2 4.7 5.2 6.8 8.4 10.8 12.8 14.8
GB/T6172.1 1.8 2.2 2.7 3.2 4 5 6 7 8
mmax
GB/T41 — — 5.6 6.4 7.9 9.5 12.2 13.9 15.9
BRETHIAS D (M18) M20 (M22) M24 M27) M30 M36 M42 M48
GB/T41 29.56 | 32.95 | 37.29 | 39.55 | 45.2 50. 85 60. 79 71.3 82.6
onin GB/T6170 29.56 | 32.95 | 37.29 | 39.55 | 45.2 50. 85 60. 79 71.3 82.6
GB/T6172. 1 29.56 | 32.95 | 37.29 | 39.55 | 45.2 50. 85 60. 79 71.3 82.6
s 27 30 34 36 41 46 55 65 75
GB/T6170 15.8 18 19.4 21.5 23.8 25.6 31 34 38
oo | GB/T6172. 1 9 10 11 12 13.5 15 18 21 24
GB/T41 16.9 19 20. 2 22.3 24.7 26. 4 31.5 34.9 38.9

iE 1 NEiESHIAmERS.
2. ARFET D<HYIZE ; B AT D> 16 126,



Bz 7

FRE

S —A 4% (GB/T97.1—2002 ) , FEAEBIMAEL—A 4% ) GB/T97. 22002 )

—

di

-

AN Tezn ]
YRS, NFRRY d=8 O, RINFIEAEEERS 2000V % , FEKEWGIE. =RERN A KN
SEEE B GB/T97.1 8
O
s\ 4
)“ﬁ%/(?‘? 2 2.5 3 4 5 6 8 10 12 14 16 20 24 30
NER)
AR d1 2.2 | 227 | 3.2 | 4.3 | 5.3 | 6.4 | 84 | 105 13 15 17 21 25 31
HMZE d2 5 6 7 9 10 12 16 20 24 28 30 37 44 56
EEh 0.3 | 0.5 | 0.5 | 0.8 1 1.6 | 1.6 2 2.5 | 2.5 3 3 4 4




MiZk s IHEHE

FrEBURAEEEAE (GB/T 93—1987) RBUIASEEME ( GB/T859—1987 )

70° +

N

tRCP: AFRESR 16 0 . #71} 65Mn, RESMAWTERLHERE - BB GB/T 93 16

O
& (1B E
) 2 l2.50 3| 4|5 |6 | 8] 10| 12| 16| 20 | 24| 3 | 36 | 42 | 48
=)
d 2.1 206 [3.1]41]51]6.2]82]10.2|12.3]16.3]20.5|24.5|30.5|36.6]42.6| 49
GB/T93
L2l 1.6 2 [24|32] 4|5 | 6 7 8 10 | 12 | 13 ] 14| 16 | 18
— 1987
H
B/T89 | o 16l el 2 24|52l 4 5 | 6.4 8 |96 12
— 1987 :
s | GB/T93 0.6 08| 1 |12]1Le6|l 2 |25] 3 |35 4 5 6 | 65| 7 8 | 9
(b) | —1987 | : : : : : :
0B/1859 0.5/ 06 |0808| 1 |1.2]16| 2 |25|32] 4 |48/ 6
S| 1987 :
GB/T93
0.4 0.5/06(08| 1 |12l 15| 17| 2 |25| 3 | 32|35 4 |45
— 1987
m<
OB/1859 0.3 0.4 050608 1 | 1.2 |16 2 |24] 3
o | O . . 6| o0. . . .
e P 1.2 1.6 2 | 25|35 | 45 ]|55]65]| 8
— 1987 :




